BID TABULATION: 2018 Downtown Sidewalk Improvements Project

BID NO. TF-2018-12

BID OPENING: December 19, 2017 3:00 p.m.

D &		D & S Concret	e Contractors	GCP Cor	GCP Contractors		Clearfield Construction		Westar Construction		M&C Fonseca Construction		
		Seguin, TX		Needville, TX		San Antonio, TX		Georgetown, TX		Granite Shoals, TX			
DEMOLITION QUANTITIES													
ITEM NO.	EST QTY	иом	ITEM	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
D1	622	SY	Remove and disposal of existing concrete sidewalks, ramps, and driveway aprons (including saw cutting	\$40.50	\$25,191.00	\$27.00	\$16,794.00	\$28.76	\$17,888.72	\$36.00	\$22,392.00	\$27.00	\$16,794.00
D2	1006	SY	Remove existing asphalt pavement (includes saw cutting)	\$27.00	\$27,162.00	\$18.00	\$18,108.00	\$18.41	\$18,520.46	\$20.00	\$20,120.00	\$13.50	\$13,581.00
D3	355	LF	Remove and disposal of existing concrete curb (includes saw cutting)	\$9.00	\$3,195.00	\$4.00	\$1,420.00	\$5.00	\$1,775.00	\$4.50	\$1,597.50	\$10.00	\$3,550.00
D4	2	EA	Removal and disposal of existing shrub/bush	\$350.00	\$700.00	\$50.00	\$100.00	\$450.00	\$900.00	\$450.00	\$900.00	\$500.00	\$1,000.00
D5	1	EA	Removal and disposal of existing palm tree and stump	\$650.00	\$650.00	\$1,000.00	\$1,000.00	\$1,875.00	\$1,875.00	\$750.00	\$750.00	\$500.00	\$500.00
D6	1	EA	Removal and disposal of existing palm tree stump	\$400.00	\$400.00	\$500.00	\$500.00	\$1,250.00	\$1,250.00	\$500.00	\$500.00	\$500.00	\$500.00
D7	92	LF	Remove existing street pavement striping	\$5.00	\$460.00	\$10.00	\$920.00	\$2.10	\$193.20	\$15.00	\$1,380.00	\$3.50	\$322.00
CONSTRUCTION QUANTITIES													
1	715	SY	Construct 4" concrete sidewalk	\$81.00	\$57,915.00	\$72.00	\$51,480.00	\$51.39	\$36,743.85	\$49.50	\$35,392.50	\$71.00	\$50,765.00
2	324	SY	Construct concrete driveway apron	\$81.00	\$26,244.00	\$60.00	\$19,440.00	\$62.81	\$20,350.44	\$58.00	\$18,792.00	\$85.00	\$27,540.00
3	686	LF	Construct 6" concrete curb and gutter	\$21.00	\$14,406.00	\$23.00	\$15,778.00	\$17.04	\$11,689.44	\$24.75	\$16,978.50	\$28.00	\$19,208.00
3A	691	SF	Repair asphalt paving adjacent to new curb, ramps, and driveways	\$5.00	\$3,455.00	\$22.55	\$15,582.05	\$18.75	\$12,956.25	\$6.00	\$4,146.00	\$3.00	\$2,073.00
4	8	EA	Relocated existing sign and post	\$200.00	\$1,600.00	\$350.00	\$2,800.00	\$234.37	\$1,874.96	\$500.00	\$4,000.00	\$600.00	\$4,800.00
5	1	EA	Install new stop sign	\$550.00	\$550.00	\$250.00	\$250.00	\$429.68	\$429.68	\$750.00	\$750.00	\$2,200.00	\$2,200.00
6	226	SY	Install 8" thick flex base course and 2" Type D hot mix asphalt pavement for full restoration (includes necessary traffic controls for work area)	\$65.00	\$14,690.00	\$76.00	\$17,176.00	\$143.90	\$32,521.40	\$75.00	\$16,950.00	\$64.00	\$14,464.00
7	24	SY	Install Type D hot mix asphalt pavement	\$50.00	\$1,200.00	\$76.00	\$1,824.00	\$168.75	\$4,050.00	\$40.00	\$960.00	\$25.00	\$600.00

83 47 19 48	LF LF	Install sidewalk bridge drainage channel	\$50.00	\$4,150.00	\$180.00	\$14,940.00	\$112.01	\$9,296.83	\$185.00	Ć4E 2EE 00	\$125.00	640.275.00
19				, ,	7100.00	\$14,54U.UU	\$112.01	\$9,290.65	\$105.00	\$15,355.00	\$123.00	\$10,375.00
		Install sidewalk drainage flume	\$48.00	\$2,256.00	\$180.00	\$8,460.00	\$205.04	\$9,636.88	\$155.00	\$7,285.00	\$80.00	\$3,760.00
12	SY	Install brick sidewalk pavers	\$250.00	\$4,750.00	\$70.00	\$1,330.00	\$162.00	\$3,078.00	\$190.00	\$3,610.00	\$181.00	\$3,439.00
40	LF	Install metal handrailing	\$80.00	\$3,840.00	\$150.00	\$7,200.00	\$65.00	\$3,120.00	\$135.00	\$6,480.00	\$120.00	\$5,760.00
3	EA	Install tree well including 3" caliper cedar elm	\$300.00	\$900.00	\$750.00	\$2,250.00	\$3,106.62	\$9,319.86	\$3,500.00	\$10,500.00	\$2,750.00	\$8,250.00
6	EA	Adjust water meter or sanitary sewer clean out to match final grade	\$200.00	\$1,200.00	\$750.00	\$4,500.00	\$312.50	\$1,875.00	\$750.00	\$4,500.00	\$700.00	\$4,200.00
1	EA	Adjust CATV/AT&T utility structure cover to match final grade	\$350.00	\$350.00	\$500.00	\$500.00	\$300.00	\$300.00	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00
265	SY	sod	\$13.00	\$3,445.00	\$29.05	\$7,698.25	\$41.47	\$10,989.55	\$6.00	. ,	•	\$4,505.00
209	LF	Install 24" stop bar striping	\$4.00	\$836.00	\$10.00	\$2,090.00	\$12.18	\$2,545.62	\$15.00	\$3,135.00	\$6.00	\$1,254.00
401	LF	Install 12" cross-walk striping	\$3.00	\$1,203.00	\$5.00	\$2,005.00	\$6.09	\$2,442.09	\$10.00	\$4,010.00	\$4.00	\$1,604.00
520	LF	Install 4" parking space striping	\$3.00	\$1,560.00	\$2.15	\$1,118.00	\$2.03	\$1,055.60	\$10.00	\$5,200.00	\$1.85	\$962.00
49	SY	Install non-parking area striping	\$18.00	\$882.00	\$6.40	\$313.60	\$54.06	\$2,648.94	\$18.00	\$882.00	\$1.85	\$90.65
1	EA	Install accessible parking symbol	\$200.00	\$200.00	\$400.00	\$400.00	\$562.50	\$562.50	\$850.00	\$850.00	\$350.00	\$350.00
1	EA	Install accessible parking sign	\$400.00	\$400.00	\$675.00	\$675.00	\$429.68	\$429.68	\$850.00	\$850.00	\$400.00	\$400.00
1	EA	Install curb island nose	\$250.00	\$250.00	\$500.00	\$500.00	\$1,562.50	\$1,562.50	\$1,500.00	\$1,500.00	\$1,200.00	\$1,200.00
52	LF	Install 6" tall curb wall	\$65.00	\$3,380.00	\$10.00	\$520.00	\$218.75	\$11,375.00	\$33.00	\$1,716.00	\$12.00	\$624.00
20	EA	Construct TxDOT Type 1 accessible ramp	\$1,000.00	\$20,000.00	\$1,100.00	\$22,000.00	\$625.00	\$12,500.00	\$1,600.00	\$32,000.00	\$3,200.00	\$64,000.00
1	EA	Construct TxDOT Type 3 accessible ramp	\$1,200.00	\$1,200.00	\$1,500.00	\$1,500.00	\$546.87	\$546.87	\$1,600.00	\$1,600.00	\$3,200.00	\$3,200.00
TOTAL BASE BID:						\$241,171.90		\$246,303.32		\$249,171.50		\$272,870.65
IVE A	LTER	NATE CONSTRUCTION QUANTIT	IES				<u> </u>					
100	LF	Install 12" tall curb wall in an unspecified location	\$75.00	\$7,500.00	\$20.00	\$2,000.00	\$218.75	\$21,875.00	\$40.00	\$4,000.00	\$24.00	\$2,400.00
200	SY	Construct 5" concrete sidewalk in an unspecified location	\$80.00	\$16,000.00	\$80.00	\$16,000.00	\$61.67	\$12,334.00	\$54.00	\$10,800.00	\$80.00	\$16,000.00
300	LF	Construct 6" concrete curb and gutter	\$21.00	\$6,300.00	\$23.00	\$6,900.00	\$17.04	\$5,112.00	\$23.00	\$6,900.00	\$28.00	\$8,400.00
300	SF	Repair asphalt paving adjacent to unspecified curb, ramps, and driveways in an unspecified area	\$5.00	\$1,500.00	\$11.00	\$3,300.00	\$18.75	\$5,625.00	\$45.00	\$13,500.00	\$3.00	\$900.00
TOTAL ADDITIVE ALTERNATE BIDS:						\$28,200.00		\$44,946.00		\$35,200.00		\$27,700.00
	6 1 265 209 401 520 49 1 1 1 52 20 1  IVE A 100 200 300	6 EA  1 EA  265 SY  209 LF  401 LF  520 LF  49 SY  1 EA  52 LF  20 EA  1 EA  1 EA  1 EA  1 EA	Adjust water meter or sanitary sewer clean out to match final grade  EA Adjust CATV/AT&T utility structure cover to match final grade  IEA Adjust CATV/AT&T utility structure cover to match final grade  Install topsoil and St. Augustine block sod  Install 24" stop bar striping  IF Install 12" cross-walk striping  IF Install 4" parking space striping  IF Install accessible parking symbol  IF Install accessible parking symbol  IF Install accessible parking sign  IF EA Install curb island nose  IF Install 6" tall curb wall  Construct TxDOT Type 1 accessible ramp  Construct TxDOT Type 3 accessible ramp  TOTAL  IVE ALTERNATE CONSTRUCTION QUANTIT  OF Install 12" tall curb wall in an unspecified location  Construct 5" concrete sidewalk in an unspecified location  Construct 6" concrete curb and gutter  Repair asphalt paving adjacent to unspecified curb, ramps, and driveways in an unspecified area	cedar elm Adjust water meter or sanitary sewer clean out to match final grade  EA clean out to match final grade  1 EA Adjust CATV/AT&T utility structure cover to match final grade  265 SY Install topsoil and St. Augustine block sod  209 LF Install 24" stop bar striping \$4.00  401 LF Install 12" cross-walk striping \$3.00  520 LF Install 4" parking space striping \$3.00  49 SY Install non-parking area striping \$18.00  1 EA Install accessible parking symbol \$200.00  1 EA Install accessible parking sign \$400.00  1 EA Install curb island nose \$250.00  52 LF Install 6" tall curb wall \$65.00  EA Construct TxDOT Type 1 accessible ramp \$1,000.00  1 EA Construct TxDOT Type 3 accessible \$1,000.00  TOTAL BASE BID:  IVE ALTERNATE CONSTRUCTION QUANTITIES  Install 12" tall curb wall in an unspecified location \$75.00  SY Construct 5" concrete sidewalk in an unspecified location \$80.00  LF Construct 6" concrete curb and gutter \$21.00  SF unspecified curb, ramps, and driveways in an unspecified draea	EA	EA   Cedar elm   S300.00   S900.00   S750.00	EA   Cedar elm   S300.00   S900.00   S750.00   S2,250.00     Adjust water meter or sanitary sewer clean out to match final grade   S200.00   S1,200.00   S750.00   S4,500.00     EA   Adjust CATV/AT&T utility structure cover to match final grade   S350.00   S350.00   S500.00   S500.00     EA   Install topsoil and St. Augustine block sod   S13.00   S3,445.00   S29.05   S7,698.25     209   LF   Install 24" stop bar striping   S4.00   S836.00   S10.00   S2,000.00     401   LF   Install 12" cross-walk striping   S3.00   S1,203.00   S5.00   S2,005.00     520   LF   Install a" parking space striping   S3.00   S1,560.00   S2.15   S1,118.00     1   EA   Install accessible parking symbol   S200.00   S200.00   S400.00   S400.00     1   EA   Install accessible parking symbol   S200.00   S200.00   S400.00   S400.00     1   EA   Install accessible parking sign   S400.00   S400.00   S675.00   S675.00     1   EA   Install curb island nose   S250.00   S250.00   S500.00   S500.00     20   EA   Construct TxDOT Type 1 accessible ramp   S1,000.00   S1,200.00   S1,100.00   S22,000.00     1   EA   Construct TxDOT Type 3 accessible ramp   S1,200.00   S1,200.00   S1,500.00   S1,500.00     1   EA   Construct TxDOT Type 3 accessible ramp   S1,200.00   S1,200.00   S1,500.00   S1,500.00   S24,000.00     200   SY   Construct S0 concrete sidewalk in an unspecified location   S80.00   S16,000.00   S20.00   S60.00   S60.00	SACTOR   SACTION   SACTI	EA   Cedar elm   S300.00   S900.00   S750.00   S2,250.00   S3,106.62   S9,319.86	EA   cedar ellm	E	Adjust water meter or sanitary sewer   Adjust water meter or sanitary sewer   Clean out to match final grade   \$200.00   \$1,200.00   \$750.00   \$4,500.00   \$312.50   \$1,875.00   \$750.00   \$4,500.00   \$700.00   \$700.00   \$1,000.00   \$

		RL Rohde Gen Contracting		Myers Concrete Const.		E-Z Bel Construction		JBS Underground			
			Adkins, TX Wimberley, TX			San Anto	onio, TX	Austin, TX			
DEMO	OLITIC	N QU	ANTITIES								
ITEM NO.	EST QTY	UOM	ITEM	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
D1	622	SY	Remove and disposal of existing concrete sidewalks, ramps, and driveway aprons (including saw cutting	\$23.40	\$14,554.80	\$38.00	\$23,636.00	\$24.00	\$14,928.00	\$36.00	\$22,392.00
D2	1006	SY	Remove existing asphalt pavement (includes saw cutting)	\$14.04	\$14,124.24	\$19.00	\$19,114.00	\$22.00	\$22,132.00	\$35.00	\$35,210.00
D3	355	LF	Remove and disposal of existing concrete curb (includes saw cutting)	\$7.80	\$2,769.00	\$8.00	\$2,840.00	\$7.00	\$2,485.00	\$25.00	\$8,875.00
D4	2	EA	Removal and disposal of existing shrub/bush	\$1,439.10	\$2,878.20	\$170.00	\$340.00	\$280.00	\$560.00	\$250.00	\$500.00
D5	1	EA	Removal and disposal of existing palm tree and stump	\$1,918.80	\$1,918.80	\$1,025.00	\$1,025.00	\$570.00	\$570.00	\$1,000.00	\$1,000.00
D6	1	EA	Removal and disposal of existing palm tree stump	\$1,918.80	\$1,918.80	\$466.00	\$466.00	\$300.00	\$300.00	\$1,000.00	\$1,000.00
D7	92	LF	Remove existing street pavement striping	\$8.47	\$779.24	\$4.00	\$368.00	\$1.25	\$115.00	\$15.00	\$1,380.00
CONS	TRUC	TION	QUANTITIES								
1	715	SY	Construct 4" concrete sidewalk	\$60.84	\$43,500.60	\$87.00	\$62,205.00	\$85.00	\$60,775.00	\$54.00	\$38,610.00
2	324	SY	Construct concrete driveway apron	\$70.20	\$22,744.80	\$108.00	\$34,992.00	\$105.00	\$34,020.00	\$112.50	\$36,450.00
3	686	LF	Construct 6" concrete curb and gutter	\$17.66	\$12,114.76	\$33.00	\$22,638.00	\$41.00	\$28,126.00	\$23.00	\$15,778.00
3A	691	SF	Repair asphalt paving adjacent to new curb, ramps, and driveways	\$5.85	\$4,042.35	\$5.00	\$3,455.00	\$7.00	\$4,837.00	\$26.00	\$17,966.00
4	8	EA	Relocated existing sign and post	\$234.00	\$1,872.00	\$466.00	\$3,728.00	\$150.00	\$1,200.00	\$350.00	\$2,800.00
6	226	SY	Install new stop sign Install 8" thick flex base course and 2" Type D hot mix asphalt pavement for full restoration (includes necessary traffic controls for work area)	\$429.00 \$78.00	\$429.00 \$17,628.00	\$652.00 \$62.00	\$652.00 \$14,012.00	\$275.00 \$66.00	\$275.00 \$14,916.00	\$400.00 \$150.00	\$400.00 \$33,900.00
7	24	SY	Install Type D hot mix asphalt pavement	\$97.50	\$2,340.00	\$40.00	\$960.00	\$35.00	\$840.00	\$80.00	\$1,920.00
8	83	LF	Install sidewalk bridge drainage channel	\$312.00	\$25,896.00	\$145.00	\$12,035.00	\$283.00	\$23,489.00	\$170.00	\$14,110.00
9	47	LF	Install sidewalk drainage flume	\$468.00	\$21,996.00	\$254.00	\$11,938.00	\$294.00	\$13,818.00	\$160.00	\$7,520.00
10	19	SY	Install brick sidewalk pavers	\$85.80	\$1,630.20	\$143.00	\$2,717.00	\$132.00	\$2,508.00	\$360.00	\$6,840.00
11	48	LF	Install metal handrailing	\$156.00	\$7 <i>,</i> 488.00	\$93.00	\$4,464.00	\$130.00	\$6,240.00	\$145.00	\$6,960.00

12	3	EA	Install tree well including 3" caliper cedar elm	\$6,162.00	\$18,486.00	\$4,307.00	\$12,921.00	\$6,290.00	\$18,870.00	\$3,000.00	\$9,000.00
13	6	EA	Adjust water meter or sanitary sewer clean out to match final grade	\$195.00	\$1,170.00	\$373.00	\$2,238.00	\$550.00	\$3,300.00	\$350.00	\$2,100.00
14	1	EA	Adjust CATV/AT&T utility structure cover to match final grade	\$390.00	\$390.00	\$419.00	\$419.00	\$475.00	\$475.00	\$350.00	\$350.00
15	265	SY	Install topsoil and St. Augustine block sod	\$14.51	\$3,845.15	\$18.00	\$4,770.00	\$18.00	\$4,770.00	\$24.50	\$6,492.50
16	209	LF	Install 24" stop bar striping	\$14.04	\$2,934.36	\$11.00	\$2,299.00	\$8.00	\$1,672.00	\$6.50	\$1,358.50
17	401	LF	Install 12" cross-walk striping	\$7.80	\$3,127.80	\$7.00	\$2,807.00	\$4.00	\$1,604.00	\$4.50	\$1,804.50
18	520	LF	Install 4" parking space striping	\$2.73	\$1,419.60	\$4.00	\$2,080.00	\$1.30	\$676.00	\$2.50	\$1,300.00
19	49	SY	Install non-parking area striping	\$20.28	\$993.72	\$17.00	\$833.00	\$35.00	\$1,715.00	\$45.00	\$2,205.00
20	1	EA	Install accessible parking symbol	\$546.00	\$546.00	\$233.00	\$233.00	\$360.00	\$360.00	\$150.00	\$150.00
21	1	EA	Install accessible parking sign	\$390.00	\$390.00	\$652.00	\$652.00	\$275.00	\$275.00	\$350.00	\$350.00
22	1	EA	Install curb island nose	\$468.00	\$468.00	\$1,398.00	\$1,398.00	\$1,360.00	\$1,360.00	\$3,400.00	\$3,400.00
23	52	LF	Install 6" tall curb wall	\$31.20	\$1,622.40	\$27.00	\$1,404.00	\$60.00	\$3,120.00	\$48.00	\$2,496.00
24	20	EA	Construct TxDOT Type 1 accessible ramp	\$2,496.00	\$49,920.00	\$1,957.00	\$39,140.00	\$2,300.00	\$46,000.00	\$1,600.00	\$32,000.00
25	1	EA	Construct TxDOT Type 3 accessible ramp	\$2,886.00	\$2,886.00	\$2,237.00	\$2,237.00	\$2,400.00	\$2,400.00	\$4,600.00	\$4,600.00
			TOTAL	\$288,823.82		\$295,016.00		\$318,731.00		\$321,217.50	
ADDI	TIVE A	LTER	NATE CONSTRUCTION QUANTIT	TES		•					
A1	100	LF	Install 12" tall curb wall in an unspecified location	\$49.92	\$4,992.00	\$34.00	\$3,400.00	\$45.00	\$4,500.00	\$68.00	\$6,800.00
A2	200	SY	Construct 5" concrete sidewalk in an unspecified location	\$60.84	\$12,168.00	\$95.00	\$19,000.00	\$81.00	\$16,200.00	\$85.50	\$17,100.00
А3	300	LF	Construct 6" concrete curb and gutter	\$20.78	\$6,234.00	\$34.00	\$10,200.00	\$40.05	\$12,015.00	\$23.00	\$6,900.00
A4	300	SF	Repair asphalt paving adjacent to unspecified curb, ramps, and driveways in an unspecified area	\$7.80	\$2,340.00	\$6.00	\$1,800.00	\$10.00	\$3,000.00	\$26.00	\$7,800.00
			TOTAL ADDITIVE ALTERI	\$25,734.00		\$34,400.00		\$35,715.00		\$38,600.00	
									1		